www.govtjobsalert.in

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Ans

American 60%

TR BT 37 At # gar i g F s gfeee R § S
TEET TART & & T i o £

R e T e 3§ F g 5,00,000 #er A AT, o 40 A @ A
HIY e AN AR fr FE e § A Je e

American 60%

The above figure gives the country wise and age wise distribution of people who visit
china for business set up

If in a given year 500000 visited china, then the number of American nationals who
visited at with age group above 40 years is
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Question ID : 9864494796
Status : Not Answered
Chosen Option : --




# 1.50,000
v 260,000
X 3. 45,000
< 4. 55,000
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Q.2 v eafer ater # 3.5 et 1 amgfea & 3 swor A 0.1 Aex ¥ v sy

700 ST HT gf T A H et GAL oM 2

A sound wave has a frequency of 3.5 kHz and wavelength 0.1 m. How long will it take to

travel 700 m?

Ans -
x o 1.5 &3

I5s
v, 203FS
20s
x5 3.0 P
3.0s
x , 1 HP3
Is

Question ID : 9864493164
Status : Not Answered

Chosen Option : --

Q.3 =fy X & 7, Y & far & sFaicdr T § O Y % afy #r g X H

2l

If X’s mother is the only daughter of Y*s father, then Y"s husband’s sister is X’s .

Ans X1_m

Mother-in-law

X2 il
Mother
v
Aunt
EEo)

Sister

X oa

Question ID : 9864494774
Status : Answered

Chosen Option : 3

| ST /T [ [T /A AT

Q4m3ﬁﬁ“

(—6)[40 = {7 = (=3)}] =7

Solve the following:

(—6)[40 ~ {7 — (=3)}] =?
Ans X 1. 24

X 260

X 5. 60

vi- 24

Question ID : 9864492819
Status : Answered
Chosen Option :2

Q.5

Question ID : 9864494721
Status : Answered
Chosen Option : 3
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Ry a7 3rmg 31 @Rl & SER AR AR s @ g, S smEwe
FifiE weT & O 9= Froamr w8

ofy, B R a1 3§ & 5,00,000 FET P FT AT WA L oar 20 ¥ ¥ w5
Hg & A H A FE TS FANG A FEr Feedr 82

The given figures depicts the country-wise and age-wise distribution of people who visit
China for business set-up.

If in a given year, 500,000 people visited China, then the number of American nationals of
the age group below 20 years who visited China is:

Ans 1.2 00,000
2 2.1,90,000
X 3.1,50,000
+ 4.1,80,000
Q.6 A X & ¥ & T B, ‘gren e #1 o= i ww, Ah AW Py

Ans

Question ID : 9864495076

$r 3, 4 X fr gl
Status : Answered

Mr. X said to Ms. Y, “Your father’s wife’s sister is my aunt”. Ms. Y’s daughter is Mr. X’s
. Chosen Option : 3

. T g7 AR 9gT
Cousin
X2 S:I'Ié'
Brother
=i ST
Niece
g8

Sister

v &3

X 4

Q.7

Question ID : 9864494871
Status : Answered
Chosen Option :1



e &, 31 EEE A T ST 37 TS A 3fE T i I g1 it 3 @

T 8 ¥ dF GETs arel T 9 Pl AT 3HF grm?

In a 3-digit number, the hundreds digit 1s 4 times the units digit and the tens digat 1s thrice

the umits digat. The sum of the digits 13 8. What 1s the tens digit in the number?

Ans X1_ 6
V23
x39
X4 4
Q.8 7@ fYweq F1 =@ i = T v oy F ieg ous # 698 e o HwEm

A
?

Select the option that will correctly fit in the blank space in the given figure.

N/

X2

Ot
R

v -~ '

Question ID : 9864495049
Status : Answered
Chosen Option : 4

Q.9 ya % TF TeeErs AN I FHEET THT A H HeAw F Rw A

T 17 STaLr 2018 1 #iehrdor fmar arar e

Name the autobiography of Sanjay Manjrekar, the former India batsman-turned-

commentator, which was launched in Mumbai on 17 January 2018.
r 0 ‘@é’ﬂ ¥ A Y

‘Playing It My Way”’

‘ar fsfafes srarEmdr

‘The Definitive Biography’
er=sir

| ‘Imperfect’
"FAr ST
‘Sunny Days’

K2

Question ID : 9864494409
Status : Answered
Chosen Option : 2

Q.10




Ru 7w go7 W AR = ik v & & mmmlaﬁg:%yggp alert In Question ID : 9864494740

Fe 7T FoeT T B
CHINA & & =23 fFvar =mar §2

FYA:

1. CHILE =1 ECIHL ¥ & & %125 famm =ar &1
2. EGYPT & TEYGP ¥ &7 & iz fmr = 3
Read the following question and decide which of the given statements is/are sufficient.

How is CHINA coded?

Statements:

1. CHILE is coded as ECTHL.
2. EGYPT is coded as TEYGP.

F !
99 & 3o & & v 1 3k 2 A= PR s g

Both 1 and 2 together are sufficient to answer the question.

<2
3Rl 2 qATed & SaTe 99 H 3cal g & foIT el 1 wdica 77 2
2 alone is sufficient while 1 alone is not sufficient to answer the question.

v &)
99 & 3cal &oF & T Tm & 1 T1 2 I B

Either 1 or 2 is sufficient to answer the question.

X 4
3o 1 TATST g Safe 99 T 3ca¥ &7 & oI e 2 9ed #er ¢l

1 alone is sufficient while 2 alone is not sufficient to answer the question.

Status : Answered
Chosen Option : 4

Q1

Ans

COLONIAL

F9X feu fa= &t guor ofa &1 e

COLONIAL

The mirror image of the above figure is:

< TAIMOroc
x> JAINOLOD
v JAIMOJOD
=+« LAINOLOC

Question ID : 9864493763
Status : Answered
Chosen Option : 3

Q.12 goter 10 € & us QAR oiel B & {1 Hevell &, o@feh ool 12 9 & Sar

Ans

H qft T & FhGT F FFhaT gl AT Foi AT Teolr Il ¥ & 5
& forw grer &1 A s SaR W 99 o SIE HI0 & o9 o SaR I3 o o
e T [T A S Tl SR ener {1 ¥ T I fhae g¢ e

Brajen can paint a wall red in 10 hours while Ballari can whitewash the wall completely in
12 hours. If Brajen and Ballari work alternately for an hour each starting when the wall

has just cement on it till when it is completely painted red, how many hours will it take to
paint the entire wall red?

<1108

Question ID : 9864494899
Status : Not Answered
Chosen Option : --




< 2.120
Z 3110
v 4109
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Q.13 v =gfFd g ‘O ¥ AT AqF I 8, g A TF 9gae & forv 97 IR
20 ferelidiey Siidr g, e ed #g oiidr § 31 &g B’ de 9geal & e 10
Tepeliatiey &1 A e §, ¢ A3 St § 3R &g 'C a% wgae & fow 9
fbel#lied &1 A sar &, fe ard Ag ol § 3R 1dg ‘D’ de ugaa & e
5 Thelldie &1 A el §, i a1 ) g F a% 9gae & fow 12
fereiafie &1 arr e & T aTe 73 ol § 31K [§g F &% 9gos & foe 6
Rrelleflex &1 A & Lar g1

fig ‘€ 3R fig B & = & =ead gl feaelr 87

A man starts from point ‘07, travels 20 km towards East to reach point “A’, turns right and
travels 10 km to reach point ‘B°, turns right and travels 9 km to reach point “C’, turns right
and travels 5 km to reach pomnt ‘D’, turns left and travels 12 km to reach point ‘E” and
then turns right and travels 6 km to reach point ‘F".

What is the shortest distance between point ‘E’ and point ‘B’?
Ans 1 |15
v 2. \/166
X 3.4/450
K 4 46

Question ID : 9864494738
Status : Not Answered
Chosen Option : --

Q14 37 R # =99 ®, A 7o weg ¥ el a9 3

2503

Select the figure that does NOT belong in the following group.

KB O3
- ?1<1.32 3 4

X 21

v 4

X 42

Question ID : 9864494282
Status : Answered
Chosen Option : 3

Q.15 foreir Tagge it (Wfke) # 1 B2 & e 1 fademe afa &1 @i # «
fagga F= #1 o & A 1 fetae ger g §) 59 S 7 e

1 kilowatt hour is the amount of electric energy consumed when 1 kilowatt power is used
for 1 hour in an electric circuit. Express it in joules.

Ans 63%10° =&
Ko X LN

6.3x10°7

5 63 X 10" &

6.3 x 10°7T

Question ID : 9864494975
Status : Answered
Chosen Option : 2




x5 46 X 107 ST

4.6 X 10°7

v 36x 107 I

3.6 X 10°7
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Q.16 wrT o sEoFe o Tv T F qAfEEr W 12.5% FAmn| afE 38
TR T 1680 7 @ier o7 o 3= 50 ey & =7

Qamar gained 12.5% on the resale of a used stereo. If he purchased the item for ¥ 1680,
how much did he sell it for?

Ans 1T 1,900
2 71,890
% 331,880
X 4.%1,910

Question ID : 9864494578
Status : Answered
Chosen Option : 2

FLT T AT T B B2
Reliance Jio Infocomm Ltd. is planning to launch its own cryptocurrency called:

Ans xtﬁ?:aalg?r

Question ID : 9864494408
Status : Answered
Chosen Option : 2

Q.18 7gs 2017 & AR & TIH Al 3ETAN FoHo & A== T Hr
g |
Identify the venue of India’s first Tribal Entrepreneurship Summit held in November
2017.

Ans «1- a‘iT-‘IEE_',T, E‘:Cél-\qgla
Dantewada, Chhattisgarh
*bﬁ,ﬂdﬁd

X2
Kutch, Gujarat

>, el TIAT, FHA
Karbi Anglong. Assam

X , SO, CECE
Hyderabad. Telangana

Question ID : 9864494487
Status : Answered
Chosen Option :1

Q19w Yeremdl v WA A1 | 50 Wb # 338 e Fr gft qw F I A Ay
A train moving with a uniform speed covers 338 m in 50 s. What is its speed?

Ans X1 4.76 #reT 9fy Oehs
4.76 m/s

X2 7.76 HeT 9fy TehE

Q17 Remw Gt sewwa fEes B @ & sl G Bedesh oo
7.76 m/s

Question ID : 9864494949
Status : Answered
Chosen Option : 3
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v S

6.76 m/s

X s 5.76 #ieT 9id Tehg
5.76 m/s

Q20 37 B & T9a F S Afafea aag & FEha a8 g

Question ID : 9864495016
Status : Answered
Chosen Option : 4

A ||k

A B C D
Select the figure that does NOT belong in the following group.

A HF

A B C D
Ans x1_c
X2 A
X3D
v B

Q.21 freAtFIT EFR e Al A T #fEEE e fhen F s Fie .
0 Question ID : 9864492382

Status : Answered
Chosen Option :2

‘Who is the director of the Filmfare Award—winning movie Dangal starring Aamir Khan?

Ans v crer foardr
Nitesh Tiwari
| T TgeT FeAw
Gautham Vasudev Menon
X 3. F el

Karan Johar
31?I=TI1T $hIOY9

x

< 4
Anurag Kashyap

Q.22 gz A v @rell &R bl 18 HE F 3 Hehcll §, Sk W59 B # §F S @l 30
He A Well & Tl g1 o ¢l Wiell §, dl 95T A S U 6¢ & v =
fapemr e 31T FRC S @ AT T 39 929 BET UE 6T & T S & 9l Status : Not Answered
fRerelt & forT =elrRm 77 i R dg & e arm aigdl &Y u & arg v Chosen Option : --

Question ID : 9864494561

Fh Yd TAT TS O¢ & AU aF o e &1 347 oiF e 7o cr o oTgt
S| T B IR & AU e @EY @

Pipe A could fill an empty cistern in 18 hours while Pipe B can drain a filled cistern in 30
hours. When the cistern is empty, Pipe A is turned on for an hour and then turned off.
Now Pipe B 1s allowed to dramn out water from the cistern for an hour and then turned off.
The pipes were alternately left open for an hour each time t1ll the cistern was full. How
much time did it take for the cistern to be full?

Ans =
x 1 45 H5¢

45 hours
, 86 He 40 A9

86 hours 40 minutes

x



X3 90 T
90 hours
, 86 He 48 A
86 hours 48 minutes

v
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Q.23

T Lol S v foad afa § g9 W wee fwn & gl arer o cafeaar
FT HAA: 4 Whs HN 42 Wehs 7 IR HGT o Tgell g 4.5 Brapied 9fa
Her &1 aIfd & wrel @1 o, Si9fe qayr 6 fhesfie 9fd Her & afd @ =l @1
ol RN T TReriex ufd dger 7 afd w=w o

A tram travelling at constant speed crosses two persons walking in the same direction in 4
seconds and 4.2 seconds, respectively. The first person was walking at the speed of 4.5
km/h while the second was walking at the speed of 6 km/h. What was the speed of the
tram 1n km/h?

Question ID : 9864494560
Status : Answered
Chosen Option : 3

Ans x1_42
W2 36
5332
X 4. 40
Q.24 va. d@FETY, OF ARG aiteT Sefaat st e gt & s av

Ans

e F T F FEW T 37

S. Somanath, an Indian aerospace engineer and rocket technologist, has taken charge as
the new director of:

x 1 SHU 39918 g (HI.TH.U.E)
The ISRO Satellite Centre (ISAC)

2
faa AR 3afeT &g (@ eaowdn)

Vikram Sarabhai Space Centre (VSSC)

X 3
W YUl olelr faemmer (Torew.q)

The Auxiliary Propulsion System Unit (APSU)

3afieT guarT &g (TH.T.H)
4.
The Space Applications Centre (SAC)

x

Question ID : 9864494404
Status : Answered
Chosen Option : 1

Q.25

Ans

T THEET AW F T TEEd H UH & AT SHe SART Siaferees
= w3 Teafafae # & w@a 57 T

Todhed— CoHonis
Tehld— CyHaopnyy
TeBA- CH, s

All the member of a homologous series can be represented by the same general formula.
Choose the INCORRECT formula from among the following.

Alkane— C H,, .
Alkene— C H,p .y

Alkyne—C Hzp >
1 Teahel— C,H,,,, AR Teasa— C H,,_,
Alkane—C_H,, ., and Alkyne— C H, .
) Toshld— C,H,p .z

Alkene— C H,, .,

v

Question ID : 9864494642
Status : Answered
Chosen Option : 2
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A]kﬂﬂ% CnHzn_l_z
4 W_CHHZD—Z
Alkyne—C H,,

x

x

Q.26 Rw =17 Fam=w F 9§ i 77 Tl o f5 avaey & & g T & amw

o7 4 TS F T FEERE ST w7 sregET = E @) Question ID : 9864495024

Status : Answered

Chosen Option : 4

qEFd<d:

99 UT H FF T g T & @ FRor 9fem #F 5 T G @ a0

FEERAT:
1. TEN T UF & WY & GAT FES =@ AR

2. o weat & forw famad s e s =i

Read the given statement and decide which of the suggested courses of action logically
follow(s) on the basis of the information given in the statement.

Statement:

The question paper had many wrong questions due to which many students failed the
examination.

Courses of Action:

1. Re-conduct the examination with the correct question paper.
2. Grace marks should be given for wrong questions.

Ans FI 2 HJEIOT FIAT ¢ |

p S0 2

Only 2 follows.

! 3T 2 gt sregERer F E
Both 1 and 2 follow.
T A1 T 2 T FI E
| Either 1 or 2 follows.
A 1 HTEOT FIA ¢
.Only 1 follows.

W 3

X4

Q.27 areafaw wfafde o=t & T vF 957 20 cm BEFE G A FEde gy ¥ 30
cm H g r@gé%laﬁw#gﬁﬁa#q&mghﬁ')

An object is placed 30 cm before a concave mirror of focal length of 20 cm to get a real
image. What will be the distance of the image from the mirror?

Question ID : 9864494993
Status : Answered
Chosen Option : 1

Ans o 1. 60 cm
# 230 cm
/<320 cm
< 440 cm

Q.28 i r AT w i g
T A W FT W I : Question ID : 9864494699
Which gas is released when bleaching powder is added to water? Status : Answered

Ans g@m Chosen Option : 1

Ko
Hydrogen



‘,z_m’m:r

Chlorine

x3.$|é@:rm:|’raq‘m1sg

Carbon Monoxide

x4_$|é?ra1334"m133

Carbon Dioxide

www.govtjobsalert.in

Q.29 37 3ot BT F1 =TT F{ = A= & 1 et ofe (v Re) = e

Ans

figEr = Fsw & == A 3 e §

e =

-
e

c | e | e | &
Dl B =N SE LS
A B € D

Select the Answer Figure that depicts the following transparent sheet (Problem Figure)
when folded at the dotted line shown.

Problem Figure

-

Answer Figure

s

-

-

[

X 1D

G
o (OIf

B

v2C
X3 A
X 4B

Question ID : 9864495017
Status : Answered
Chosen Option : 2

Q.30x£r3ﬂ¢semaﬂ?r§tr\(m%,"Xﬂffﬁa:sm?ra%aﬁraa%"ﬁ\f

Ans

& A & X & Far TEg §7

Pointing to X, Y says, “X is the daughter of the only son of my mother” then Y’s mother

is X's

x

| ST AT gy /g /A A
Aunt

X2 e /T

v

Great grandmother

. ACNGIG
. Grandmother

Question ID : 9864493848
Status : Answered
Chosen Option : 3
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X
Mother

Q.31

Ans

e TEaT # AT 15 1 3 3RSl F @Eead § ¥ o o ~gead
HEAT3t &7 o 1§ Sor et F Fed S G @ 27

The mean of three numbers is 15. The range of this data set is & while the difference
between the two smallest numbers 15 1. The greatest of the three numbers 1s:

X 118
v 2 20
X< 324
X 422

Question ID : 9864492758
Status : Not Answered
Chosen Option : --

Q32 Grmafaf@a #1 T8 3cat & gy Fee Hfaw:

(1) F&

(2) &=ir

(3) =T

(4) FTEHIHIA

(A) TEETF S fegd i & aRafdT @ &
(B) eafer Tt frege Feir 3 afafela & ¥
(C) fFreitare-ger

(D) s
Match the following with the correct answer:

(1) Work

(2) Battery

(3) Power

(4) Microphone

(A) Chemical energy converts into electrical energy
(B) Sound energy converts into electrical energy
(C) Kilowatt hour

(D) Joule

Question ID : 9864494631
Status : Answered
Chosen Option :1

ans 11D, 2-A, 3-C, 4-B
X 2.1-B, 2-A, 3-C, 4-D
X 31D, 2-C, 3-B, 4-A
X 41D, 2-C, 3-A, 4-B
Q.33

Question ID : 9864495133
Status : Answered
Chosen Option : 3




PN\ TR 011 o] oo UE AL

fore g $781

RLDH
T Y =07

g
1. X+Y>0
2.X-Y>0

Read the following question and decide which of the given statements is/are sufficient.

Question:
Is Y =07

Statements:

1. X+Y>0
22X-Y=0

Ans X1_
U9 &l 3cad & & feiw fawed 1 3il 2 241 waieg #)

Both 1 and 2 together are sufficient to answer the question.

X2

9T H 3ecR &7 & o0 el fwed 1 9aTed &, Fafd Fae fAweT 2 vt 6 E

1 alone is sufficient while 2 alone is not sufficient to answer the question.
V&
T H IR & & fow 7 o fawew 1 3R 7 & fawew 2 wim R

Neither 1 nor 2 is sufficient to answer the question.

X4

Yo HT 3cc o1 & ToU el fdeed 2 qicg &, sfafd dad faeed 1 g A6 &)

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.34 Flq @ 3@ e dwanst, 3ufid gt v aeafas st
gl aar 7

The diagram that represent rational numbers, irrational number and real number 1s:

Question ID : 9864494788
Status : Answered
Chosen Option : 4

Ans
Q.35

Question ID : 9864494435
Status : Answered
Chosen Option : 3



Resources Institute) ZaRT Hag=1a Tasrrd AqT TR T TEATeT far T

|

Name the Sikkim Chief Minister who was honored with the Sustainable Development
Leadership Award by The Energy and Resources Institute.
Ans

x 1 7T FEIgT HSH
Nar Bahadur Bhandari
| T T
Sanchaman Limboo
g9 ITHTeET
3
Pawan Chamling

Ay e

x

X
B. B. Gurung

36 e
Q36 Ag- HT CI & HYFd 81 W a3 arell FiaTeh &)am &2 Question D : 9864494697

What is the compound formed when Ag* and CI- combine? Status : Answered

Chosen Option : 3

Ane x+ T FalE y

Argon Chlorate
| 3T FEARTSS

Argon Chloride
v faear FanEs

Silver Chloride

x4 ear e

Silver Chlorate

x

T ﬁ @- T e Feld %.—, Question ID : 9864494680
Which of the following statements is INCORRECT? Status : Answered

. . Chosen Option : 1
Ane x 1 oA & wEfew F g B

Lemon contains citric acid

2
TfETw gEgeuEs (NaoH) F a1l ypia WiFww smar Fr sufenfy & v
e 1

The basic nature of Sodium Hydroxide (NaOH) is due to the presence of sodium ions.
X s

r-Aafes Heaes geia & 3w 2 §

Nonmetallic oxides are acidic in nature

X4
FACHATA WA & ©ier # TETET T AT ¢

Phenolphthalein turns pink in soap solution.

Q.38
Question ID : 9864493012

Status : Answered
Chosen Option : 4
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AT W4 e & 8 ThaT £ F9 92T BH U TF U & U @er
AT § 3ES ag WeT A F oo T = Ram Smar §) s o o & oo
TordeT AT TEET?

Pipe A can fill an empty cistern in 6 hours while along with Pipe B it can fill it up in 4
hours. Only Pipe B is on for an hour after which Pipe A is also turned on. How much time
will it take in all to fill up the cistern?

1, 4HE 40T

4 hours 40 minutes
4 T
4 hours
x 5 4T 25 A

4 hours 25 minutes
, 492 15 fAae

4 hours 15 minutes

v &)

x

Q39 96, 156 TF 60 FHI HgcdH FHTIIH gl
The HCF of 96, 156 and 60 is:
Ans ?‘:148
V212
<34
x43

Question ID : 9864495063
Status : Not Answered
Chosen Option : --

Q.40 weh =xfdFd 0", g & eI &l gU ‘A &g e gd &1 3T 20 faaiieiier &
Al FL §, T 1 ard AR mgEar § qur B g O 9gue & v 10
ferciteiiex 1 arr e &, @ i a1 3R A5 'C’ g % 9gaa & fow 9
fereiteiiet 1 arm F3ar & 3t e o 3K Az D' g o ggae & felv 5
TeRelteiie 1 AT FaT ¥ deTRan, 9 3R #5d gv 12 fReede F e
0 g g T § 3 R S A g g g e 6
fereiteiiex 1 arm Far &

319 ag cufed e TR $T 3N g P @I 87

A man starts from pomt ‘O’, travels 20 km towards East to reach pomt “A’, turns right and
travels 10 km to reach pomnt ‘B”, turns right and travels 9 km to reach point ‘C*, turns right
and travels 5 km to reach pomnt ‘D’, turns left and travels 12 km to reach pownt ‘E” and

then turns right and travels 6 km to reach point ‘F°.
In which direction 1s the man facing now?

K4

South

Question ID : 9864495064
Status : Not Answered
Chosen Option : --

Q41 35 3 & NI TP T TIRAT F fames et g 37

The breakdown of glucose to pyruvate takes place in the during energy
production.

Ans
x 1 e IETAC e
mitochondria
EEIEIEC]

¥ &)
cytoplasm

Question ID : 9864493496
Status : Not Answered
Chosen Option : --
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K 3. P
nucleus

TrsIcellieA® fehan
4.
endoplasmic reticulum

x

02 T 7 ¥ Fi o I 9 § e 27

Ans

Which of the following numbers is divisible by 9?
X 1. 54321
X 2. 87654
X 3. 56765
o 4 47862

Question ID : 9864494574
Status : Answered
Chosen Option : 4

Q.43 v TR =, 9 HE G AT HEEE F Ted A oo § e fw

Ans

IO § T DT $-GERTer, YT TR S T B #?

For whom has the Union government launched the Accessible E-Library, ‘Sugamya
Pustakalaya’ in New Delhi under Prime Minister’s Sugamya Bharat Abhiyan?

X g

Women

=g
K2
Men

| ¥ (ZTESI)
Transgender
feeamer

Visually Impaired

<

v

Question ID : 9864494451
Status : Answered
Chosen Option : 4

Q.44 =y sfrd & 712 H@en & 37faH M ST 7 3l Telcel & 9IG g1v & 3medr

g T gHEm?

9$YX8NEOLBUJZT@1QFD%

If the second half of the given series is reversed, then what will be the eighth term from
the right?

Question ID : 9864494724
Status : Answered
Chosen Option : 4

9$YXEN6OLBUIZT@1QFD%
Ans x 1.D

X 21

x3Q

v F
Q.45

Question ID : 9864494769
Status : Not Answered
Chosen Option : --
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g1

U
Reell & Fioel 2 Trag ¥ Wi 3T eAe §1 i 3aRafda @ &

qROME:
1. e 3K eArex 7 FIAd 58 2 AcaE 7 wE 3R g5 S g

2. & Ovdlg Y5 WTe AR eAel 1 FEa 3A6 aqa e HEar ¥ fEeT
i

Consider the given statement to be true and decide which of the assumptions 1s implicit
from the statement.

Statement:
The price of onion and tomato had remained unchanged for the past 2 weeks in Delhi.

Assumptions:
1. Onion and tomato price had changed elsewhere in this 2 weeks.

2. The prices of omon and tomato 2 weeks ago were different from their present
prices.

v T 1 3K 2 gt siaffed §
Both assumptions 1 and 2 are implicit.
, el GO 2 3idf=ied 2l
Only assumption 2 1s implicit.
x&ma’rﬂm’ﬂ 1 a1 2 affea g
Either assumption 1 or 2 1s implieit.
, Sdel &oN 1 3idf=fed &1

. Only assumption 1 1s implicit.

x

x

Q.46 37 fGew o1 Tda FL o GU 71w & & @l e & |96 & fine gem

Question ID : 9864494719
Status : Answered
Chosen Option : 2

Select the option that will correctly fit in the blank space in the given figure.
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X4

Q.47 & 3wt ot FHifts Foa O v TA @ § Weg 396 EAW A St
e F BT BT ¥, = o Ty B

The organs that have the same basic structure (or same basic design) but different
functions are called:

XLFHGHHBF‘T

analogous organs

<2 L
biogenetic law
CICIEE

fossils
THET 3T
homologous organs

Ans

X 3.

v

Question ID :

9864494948

Status : Answered

Chosen Option :

4

Q.48 wH IR 2 vk FE # 520 FH1S Tt F1 3T T & | TE T oo A e
A certain household has consumed 320 units of energy during a month. How much energy
is this in joules?

Ans x 10x 10° S[eT

1.

10x10°J

9x 108 T

K2 o

0x10% J

1152 x 108 Fer
3 o
1152 x10%7J
5x10® ST
X 4 o
5x 108 J

Question ID
Status
Chosen Option

19864494652
:Not Answered

Q49 gfz coto.=Z + 1 &, dl tana - cota &1 AT fehaer glm 2

Ifcotu=+2 + 1, then the value of tane - cota =7

Ans X 1 92
v -2
X3 142
Kavz-1

Question ID :

Status

Chosen Option :

9864494527

:Not Answered

W ige e ¥ FHR =l ™ By ag &

Brass is an alloy made of:

Ans x1 H‘iﬁl‘ 3'ﬂT aﬂ-
Copper and Tin

Question ID
Status

Chosen Option :

19864493271
:Answered

2




| @ HR ST
Copper and Zinc
| T iR veafafams
Copper and Aluminum
4 T S e

Copper and Iron

v

x

x
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Q.51 AABC #,AB = 10 #&#ex BD = 6 ddmier 3 DC = 7.5 §@fex &1 24 =1
ZfTard wTT A1 T@ Al ¥ & BC Y@ & D fig w Fe 1 CA
wars &

In A ABC, AB = 10 cm. £A is bisected internally to intersect BC at D. BD = 6 cm and DC
= 7.5 cm. What is the length of CA?

Ans 12.5 GérHeT
125¢em
10 TEHET
| 10 cm
12 TEHET
| 12 cm

10.5 TEHET
10.5 cm

Question ID : 9864494905
Status : Not Answered
Chosen Option : --

Q.52 BT # & sRa & a7 gy & Fi9 @ #fger RS digae seEa
e FERAW (ICC) gaT wifte av $1 gt ueigad@ (opi) 3k T20 & &
T T THATT faere TEemer &1

‘Who among the following is India’s left-arm spinner who is the lone cricketer to feature in
both, the ODI and T20 teams of the year announced by the ICC.

Ans =g =fas
r 0 ~
Neetu David

Question ID : 9864494420
Status : Answered
Chosen Option : 2

Q.53 ST el AT ¥ 2439 O ¥ | H1S A F A IER A B TEST AT
aﬁrgalmasrm?ﬁmﬁm@raém:rmg(ﬁﬁ}m%?

Jina is 24 years younger than her mother. Eight years hence her mother’s age will be s
times her age. What is Jina’s present age (in years)? 3

Ans « 1. 28
X222
X 326
X424

Question ID : 9864494562
Status : Not Answered
Chosen Option : --

O o A W BEH T3 HER 1 WAV i 67

Which of the following has the largest sized atoms?
Ans X 1. i

Question ID : 9864494984
Status : Not Answered
Chosen Option : --




v 2 Al
Xsp
X448
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Q.55 Fr 3T fow@r & o’ & U 4: 5 §) AfG 3% 9N T AT 72 kg €, @

oo 1 aIR fhaeTr 87

The weights of Jaya and Vijaya are in the ratio 4:5.If the total of their weights 1s 72 kg,

what is Vijaya’s weight?

Ans (1. 32kg
K2 42kg
< 3 34kg
o 4 40ke

Question ID : 9864494815
Status : Answered
Chosen Option : 4

Q.56

SalesinF

0

B 8 8 5 8 8
<>
™\
L

B
[

Eprnings per day

f\a’"‘-ﬂ‘yq‘fﬁf i\’.‘ »“‘9‘0‘

Earnings per day- 9 feo 310

Sales in 3- fashr (T #)

Sunday- I[dd Monday- HHAR Tuesday- He@aR Wednesday- EREIRY
Thursday- %dR Friday- YHdR  Saturday- Af=laR

W WH & FER W Toals o7 F AT For a=0fd (T #) &

SalesinF

w0

¥ 5588 3
>
™.
g1

Earnings per day

f\a’,“««‘y&f@fﬁ‘ i“w -.*‘9‘0‘

Based on the given graph, the total money earned (in ¥ ) in the week 1s:

Ans 3 1.3,500
W 2. 2,800
/< 3.3,000
/5 4. 2,600

Question ID : 9864495092
Status : Answered
Chosen Option :2

Q.57 fGU v fametl ¥ 36 Asq-GIA FT Th L il =g QU AT AG-F7H § A

& T getad ¥

gid ;g

Select the pair of words from the given options that shares the same relationship as the

following word pair.

Teeth : Toothpaste

Ans X1.am:m

Face : Powder

Question ID : 9864495029
Status : Answered
Chosen Option : 3
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x 5, T : Sie|
Button : Jeans
aret - AP

Vs -
Haur : Shampoo
ST - Hided

4.
Foam : Soap

Q.58
Question ID : 9864495060

Status : Not Answered
Chosen Option : --

AE A QU AT 33, FRIGK H FATA ¢ el H A Ll arel Tieradn
I GI-AR U Y-AR FEeRUT WEle 4l §1

T foreft @ # 5,00,000 &9 & =fier Hr AmEw N, AT 20 TF 40 F Y F
a1 AT T R arer [ gfeer AEi Fr gear eadr 9

The given figures depict the country-wise and age-wise distribution of the people who
visit China for business setup.

If in a given year, 500,000 people visited China, then the number of British nationals in
the age group between 20 and 40 years who visited China 1s:

Ans X 1.25,000
X 2.30,000
X 340,000
W 220,000

Q.59 FpATT Tt F fT e # ¥ F T Fuw wElRE s9gET §2
Which of the following statements is most appropriate for transition elements?

Question ID : 9864495003
Status : Not Answered
Ans X" 1. Chosen Option : -

ST AEAAH et H F AT 30T g 2

Three of their outermost shells are incomplete.
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Their outermost shell is incomplete.
3
T STETaH Hielt & § ar HIoT A §
Two of their outermost shells are incomplete.
< 4
5% TEUGH P F IS s A &

They have eight electrons in their outermost shell.

<

.60 i i ¥ 3rTCT
Q.60 55 famped 71 = HT S & Frfafen et & 77 & e 3 Question ID : 9864495079
|+ 4 Status : Answered
44 .
Chosen Option : 4
P
A t

A B C D

Select the option that will come next in the following figure series.

t [t

it

I A

A B C D
Ans ?("1B

v2C

X3 A

X4D

Question ID : 9864494800
Status : Answered
Chosen Option : 4

The number of squares in the above picture is :
Ans x 1. 8
V27
X3 4
X 45

Q.62
Question ID : 9864494557

Status : Answered



s%mwmq?aﬁéw@%mﬁ‘ﬁ?sos
Tohtell oy 2

At 8% simple interest per annum a sum of money becomes ¥ 608 in 3% years. What was
the sum invested?

Ans X 1. T 450
v 2T 475
X 3. 440
X 4T 460

#ggr\g-tg%ﬁale rt I rLhosen Option : 4

Q63 e & afoTH e fRE T T AT @A ©

Fertilisation results in the formation of a/an:
Ans

Germ cell

Question ID :
Status :
Chosen Option :

9864493517
Answered
2

Q.64 g #r g Mg FT Y T 10 39 3oF §, AN AP g A A g F
7 a¥ fees ¥ | AfE s g @ s 48 a¥ §, & g o amg (et )
forae ¥

Neetu is 10 years elder to Meetu, and Meetu is 7 years elder to Geetu. If the sum of their
ages is 48 years, what is Neetu’s age (in years)?

Ans X122
X 227
X328
v 25

Question ID :
Status :
Chosen Option :

9864494604
Not Answered

Q.65 e srae SR I g 10 sec. @G Tt W Ale R ¥ B A= Hroafy
TaIsT? (A g = 10 m/s?)

A ball thrown up vertically returns to the ground after 10 second. Find the velocity with
which it was thrown up? (if g = 10 m/s?).

Ans 2 1.120 mls
# 2. 60 m/s
#3800 m/s
v 4100 m/s

Question ID
Status

Chosen Option :

19864494670
:Not Answered

Q.66 g47rey @& Brel TEN N 7 1 6 F T H T AT A FF g H oAars
(A g &

If a rope 84 m long is divided in the ratio 7 : 5, then the length of the longer piece (in m)
i

Ans (1_ 40
X242
X 350
X 445

Question ID
Status
Chosen Option :

19864494895
:Not Answered

Q7 Crafafaa & O+ o1 v Wa Tl sas Ad 2
Which of the following is NOT a simple permanent tissue?

Question ID
Status
Chosen Option :

19864494965
:Not Answered




Ans HIIeARSHT

F 8
Collenchyma

AEeH
Xylem

NererrsaT

| Parenchyma

Tl laTanTg AT

| Sclerenchyma

W2

X3

K4
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Q88 Trefaf@a & ¥ @ia @ @& 16384 & 1 HA &2
‘Which of the numbers given below is the square root of 163847
Ans  of 1128
<2122
#3132
#4118

Question ID :
Status
Chosen Option :

9864494573

:Not Answered

8 fafaf@a 7 4 i v GgFd GE 82

Which of the following numbers is composite?
Ans  of' 1 51
X 241
X 3.61
X 4.31

Question ID :
Status
Chosen Option

9864492704

: Answered
14

Q70 g #r Jifas T A T F AA HE Y H I AR

In which country was Marie Antoinette, the last queen of France, born?

Ans
x 1 T

gToE

< 3.
England

v
Austria

Question ID
Status
Chosen Option

198644944389
: Answered
1

Q.71 v= dcF F AT H FOAR TEAT 298 §| AT $TS AMHF F 196 7G2IA &,
7 ST A wE = g

The mass number of an isotope of an element is 298. If its nucleus has 196 neutrons, what
is its atomic number?

Ans X 1.196.0
< 2.298.0
v 3.102.0
X 4.494.0

Question ID
Status
Chosen Option :

19864494636
:Not Answered

Q.72 frw smyfaw AT T=T # Fieor, AearsT iR Rt F & e §
In which modern Indian state are the areas of Konkan, Marathwada and Vidarbha located?

Question ID :

9864494502




Status : Answered

Ans TTTT
Chosen Option :2
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Karnataka
A7 FfewmH wiehe 1 AUMIH FF F4T gIm? Question ID : 9864494698

Status : Answered

What is the molecular formula of Calcium Phosphate?
Ans 1. Ca(P0Oy):2
< 2 Caz(POy)s
W 3 Caz(P0O,):
X 4 CaPO,

Chosen Option : 4

Q.74 Ifg &1 Tl FHRISH BT TIET ST B IAI 2 - 3 &, S Iofehr o6 Srersaii o
TSI &0 G2

If the ratio of the corresponding sides of two similar triangles 1s 2 : 3 then the ratio of their .
corresponding altitudes 1s Chosen Option : --

Ans «1_2:3
X 21681
K<3.4:9
<a3:2

Q.75 afe 157 o ool T Fed T 29763.65 ¥, dF el 1 Ui el FpT fopeem
BT (31 SRHeE T & qUiifhd #et 9Y)?

If the cost of 157 litre of oil is T 29763.65, then what is the cost per litre (rounded off to .
two decimal places)? Chosen Option : 4

Ans  X'1.F170.08
X 2.182.06

Question ID : 9864492478
Status : Not Answered

Question ID : 9864494852
Status : Answered

X 3.¥178.31
v 4 7189.58




